Question #10 of10( Start time: 0215 17PM. 16 February 2022) Total Marls:|

In scatter diogram if both variables X and ¥ tend to move in the same direction the conrelation is colled

Salect the correct option
No Correlotion

Poaitive

Curvilinear

Negative

Click 1o Sove Arawer & Move 1D Nexl
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BCA0D40363E USAMA YASIR i L!ﬂ.

MITHIOZ = Dualnees Mothemeatics & Statiuies (Quiz 01) Cpusie Steart Thiriee OB-T) Pl 18 February 3033

Quastian & 30010 { St bme: 06:21:5% PM, 16 February 2002 ) Tatal Mark: |

IF the value al r= 0, then thase will e a perect cofralothan betwean byo varables

Ssluct the correct option
trise

fotsa

Click 1D Sorvs Aravwee & MAOve L0 Rt Ouesd lon
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MITHIOZ = Duslnees Mathemeatics & Statiuies (Quiz 01) Cpusie Steart Thiriee OB-T) Pl 18 February 7033

Quaatian B & ol b0 [ St teme: 08:38:11 PM. 18 Febiruary 2022 ) Tatal Mark: |

Thi statement
“Mipon does rat gaet ottectad by tha sxtrama waluss or outlians in the dota”

I5
Ssluct the correct option
Truie
o
i
Falss

Click 1D Sorva Aravwes & MAOve L0 Resd COuesd kon
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MTHIOR - Bualness Mothematles & [quizai) Gousle Steart Thme: G671 P, 18 February 3033

Quaniian B S ol 40 [ St teme 08365 PM, 18 Felsrunsy 2073 ) Tatal Mark: |

Thie point wivere o atralght line cuts the x-axls i colled

Seluci the corfect optian
wrintercept

srarting point

yrinteroepl

Tlhok 0 Sove Arswes & Move io Mest Guestion
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MATHIOZ = Bl L] tlew i (Guiz 03) Cpusie Steart Thiriee OBT) PA, 18 February 7033

Quaatian B 4 of 10 | start lime: 08:24.43 PM. M Fobruary 2001 } Tatal Mark: |

What dogs the siops of tha lineor ragrasson lina reprasant?

Seluct the corfect option

Horizontal distaonees bebwEan T points on the line.
Y
L

vertioo distancs from the line

)

Rote of change of regression line
L)

Horzontal distonoe divided by verteal distance betwean Two posnts on the line.,
L

Choi o Sove Arswes & Move o Resd
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MTHIOZ - Dusiness Mothermatics & Swatisties (Quiz 03) Quir Start Time: 05:13 P 16 February 2023

Queation & | of 10 [ Start time: 06:23:53 FM, ¥ February 2022 ) Total Marks: |

The squore of the correlotion cosflicien] & colled the

select the correct option
eoaiticient of datarmination

covanance

WO KINCS

Chch to Sove Anewer & Move o KNext Question
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MATHIOZ = Bl L] tlew i (Guiz 03) Cpusie Steart Thiriee OBT) PoA, 18 Febwuary 3033

Quentian B 10 of 10 [ St tirme: 063051 P18 Febiruary 2027 ) Tatal Mark: |

I the redatlonahip betwesn reight and educational qualication

Ssluct the corfect option

reane ol ha given chosoes
'x.ﬂl

the hieight iz independent ond adecatlon s dependent vorioble

)

[here (8 verse refathorship betaeen the twa
L)

the hieight 2 depandent and education & independesnt vakatls
L

Choi o Sove Arswes & Move o Resd



1831 © & @ O

(O @& vulms.vu.edu.pk/Quiz/Qu (3

v, @ 46 5l .l @ 35%

BCA0040363E: USAMA YASIR

MATHIOZ = Bual Rt tlex & (Guiz 03)

=

Quaatian B 7ol 10 | S1art time: 0B:78:45 PM, ¥ Falrunsy 2021 )

In scoftsr diogrom the dependent varioble is plotted on e

Ssluct the corfect option

yaxls

-mElE

Click to Sorvn Arawes & Move L0 et Quesl lon
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BCA0040363E: USAMA YASIR T Lﬂl.

MATHIOZ = Bl L] tlew i [Guiz 03} Cpusie Steart Thiriee OBT) PA, 18 February 7033

Quaatian & 8ol ¥0 { St lene: 08:TE01 PM, 18 Felsruary 20232 ) Tatal Mark: |

Suppote we developed the following kast squores regression equation: ¥ = 35 = 210 Which ol the following statements i
ooTect?

Seluct the corfect option

|F X = & than ¥ =15.
()

The squation cfoises the ¥-omds ol 3

)

Thie depanoent varlabsde increases 21 for an ncresse of 100 X
L)

Kand ¥ are [rversely proportionod

Choi o Sove Arswes & Move o Resd
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MTH302 - Business Mathematics & Statistics (Quiz 03)

Question # 3 of 10 ( Start time: 06:41:39 PM, 16 February 2022 )

A scatterplot of a correlation of .80 would look most like a

Select the correct option

ellipse.

O

circle.

square.

straight line.

O
O
O
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BCA0D40363E: USAMA YASIR T L!ﬂ.

MATHIOZ = Bl Rt tlex & [Guiz 03) Cpusie Stoart Thiriee 0BT PA, 18 February 7033

Queatian # § ol 10 [ Start leme: 651214 PM, 16 Februnry 2022 ) Tatal Mark: |

Which of the following la uned most frequently messures of dispersion because of (s stotistical properties and interprative
wolug?

Ssluct the correct option
M

Stondard deviation

)

flean
™
L}

Roarigpe
L)

Tlok 0 Sove Arswes & Move to Rest Guestion
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MTH302 - Business Mathematics & Stotistics (Quiz 03) Quiz Start Tir

Question # 4 of 10 { Start time: 08:43:50 PM, 16 February 2022 )

Variance ar standard deviation can be 2aio anly il

Seloct the correct option

O

oll the values in the data are unequal

oll the values In the data are in ascending order

O

oll the values In the data form in descending order

oll the vaolues in the doto are equal

Click to Save Anow
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Question #10of 10 ( Start time: 02:17:05 PM, 16 February 2022)

The minimum number of points required to calculate the intercept of a straight line is/are

Select the correct option

O

two

three

ane

ane or three

O
O
@

Click to Savg

|11
O
TA)
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MTH302 - Business Mathematics & Statistics (Quiz 03)

Question # 5 of 10 ( Start time: 06:45:38 PM, 16 February 2022 )

What is a scatter diogram ?

Select the correct option

EI) diagram which scatters all elemenits of the variable.

d) choice#b&c

b) a graphic representation of the relationship of the variables

c) helps plot cbserved values

O
O
O
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MTHI0Z - Mzt jes & Statisties (ouiz 03) iz Start Time: 08:23 PAL 16 February 20,

question £ 8 of 10 [ Stort time: 06:481 Fu 18 February 2022 ) Total Mark

It thara |8 0 Indirect redatianahip Detween rainfall & yeid of craps thean

Select the carrect option

'fiedd in higher it roinfoli @ nigher

Yielkd ia lower i roinfall = e

il s equed to minhall

¥icid in highar i roinfall i3 kaa

Clisk to Save Answar & Move to el Quashon
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BC210401127: MUHAMMAD FAISAL ZEESHAN

MTH302 - Business Mathematics & Statistics (Quiz 03)

Question # 6 of 10 ( Start time: 06:49:11 PM, 16 February 2022 )

If there is a Indirect relationship between rainfall & yield of crops then

P Select the correct option

Yield is higher if rainfall is higher

O

Yield is lower [f rainfall is less

Yield is equal to rainfall

Yield is higher If rainfall is less

O
O
O
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MTH302 - Business Mathematics & Statistics (Quiz 03)

Question # 8 of 10 ( Start time: 06:52:47 PM, 16 February 202

What are the central tendencies?

Select the correct option

®

Mean, median, mode and range

Mean, median, mode and midrange

Mean, median, mode and harmonic mean

none of them

O
@
O




e

it

— o

= m#ldlﬂ ( Start time: 07:04:07 PM, 18 February 2022)

As the regression line equation is y = ax + b, where a is

AT =R F s b s ' 3
= A HLITET 2]




MTH302 - Business Mathematics & Statistics (Quiz 03)

Question # 3 of 10 ( Start time: 07:02:32 PM, 16 February 2022 )

When there Is no linear correlation between two variables, what will the value of r ba?
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BC210401127: MUHAMMAD FAISAL ZEESHAN

MTH302 - Business Mathematics & Statistics (Quiz 03)

Question # 9 of 10 ( Start time: 06:54:14 PM, 16 February 2022 )

The variance is calculated by squaring the standard deviation.

Select the correct option

False

O

True
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Select the correct option
A 1to +]
I.'
0 to +]
Lo |
greater than |
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Question # 5 of 10 ( Start time: 07:05:38 PM, 16 February 20;

What is the slope of the line y = -3.4x - 2.6?

Select the correct option

| 3.4

Type here to search
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Question # 8 of 10 ( Start time: 07:07:01PM, 16 February 2022)

A scatter diagram is a chart

Select the correct option




Question # 10 of 10 ( Start time: 07:13:14 PM, 16 February 2022 )

If Meanof X=20143 ,MeanofY=6 , andSlope= 0.181176
Then intercept of the data is

p——

Select the correct option
| = ' ]

) for stats g douiieciich e

e here 1o search



Question # 7 of 10 ( Start time: 07:07:56 PM, 16 February 2022 )

For the set of data points with Y={2,3,9,1,8} and X={6,5,11,7,6} the intercepts is

Select the correct option

O Type here to search
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MTH302 - Business Mathematics & Statistics (Quiz 03)

Question # 7 of 10 ( Start time: 07:27:55 PM, 16 February 2022 )

In the scatter diagram, clustering of points around a straight line indicates

Select the correct option

curvilinear regression

O

linear regression

none of these

non-linear regression
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MTH302 = Business Mathematics & Statistics (Quiz 03) Quiz Start Time: 07:19 PM, 16 February 202

BC210403843: MUHAMMAD SHOAIB

uestion # 6 of 10 ( Start time: 07:26:43 PM, 16 February 2022 ) Total Marks:

I the sample variance for a frequency distribution consisting of hourly wages was computed to be 10, what is the sample standaord deviation?

select the correct option
10.00
KA
196

O

Click to Save Answer & Move to Next Question
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BC210403843: MUHAMMAD SHOAIB

MTH302 - Business Mathematics & Statistics (Quiz 03)

Question # 2 of 10 ( Start time: 07:20:55 PM, 16 February 2022 )

ForY = a - b X we say that relationship between
Y and X is

Select the correct option

indirect & linear

O

indirect & curvilinear

direct & curvilinear

direct & linear

O
O
O
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ATH302 - Business Mathematics & Statistics (Quiz 03)

westion # 5 of 10 ( Start time: 07:25:53 PM, 16 February 2022)

The equation for the intercept of the regression line is Y=a+bX where b is

elect the correct option

Dependant variable

Intercept
Equation
Slope




19:20 8o o ¥ A4G 4 @ 40%

(O @ vulms.vu.edu.pk/Quiz/Quiz¢ (@) ¢

BC210403843: MUHAMMAD SHOAIB

MTH302 - Business Mathematics & Statistics (Quiz 03)

Question #10f 10 ( Start time: 07:19:59 PM, 16 February 2022 )

Standard deviation is dlways calculated from

Select the correct option

medn

O

none of these

median

mode

O
®
O
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MTH302 - Business Mathematics & Statistics (Quiz 03) Quiz Start Time: 07:19 PM, 16 February 2/

question # B of 10 { start time: 07:29:22 PM, 16 February 2022 ) Total Mar

In a set of 10 observations the mean is 20 and the median is 15. There are 2 values that are §, and oll other values are different. What is the
mode?

select the correct option

15
C.

&

0

O O

Click to Save Answer & Move to Next Question
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BC210400008: SYED SAAD HUSSAIN

MTH302 - Business Mathematics & Statistics (GQuiz 03) Crui

Question ## 10110 { Start time: 07:38:57 PM, 16 February 2022 )

A3 the regresstan line equatlen s v = ax + b whore b s

Select the correct optlon
Mone of thase
IK---\'
\_.f"

The u-inlarcent

{7
Tha slopo
N
@
The y-intercept
£
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MTH302 - Buzinezs Mathamatics & Statisties (Quiz 03)

100% M-

Question # 3 of 10 { Start time: 07:42:23 PM, 16 February 2022 )

For the regression lineY=a+bX, b is the

Select the corract option

Slope of the regression lina

&
8

none of these

v-Intercept
r
I'\.____."

k-Intarcept
Vi
L/
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BCZ10400008: SYED SAAD HUSSAIN

MTH302 - Business Mothematics & Stotistics [Quiz 63) Quiz

Question # 4 of 10 ( Start time: 07:43:44 PM, 16 February 2022 )

The dagres to which numercal data tend to spread clout an ovarage 15 called

Salect the correct option

Correlation

Mone of those

oy
I'\_.-"I
The disparsion
L)
Standord dsviation
.-—\\I
|
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MTH302 - Business Mathematles & Statistles (Qulz 03) Quiz Start T(

Question # 7 of 10 [ Start time: 07:48:30 PM, 16 February 2022 )

The meosurement of meosure of degree of Lz wedich any beso voriobles vory egether iz colled

Select the correct oplion

miRegrossion Coofficionl

biCarralation

diMono of thoss

clon ol and (a)

Click to Sove Ans
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MTH3202 - Business Mathematics & Statistics (Quiz 03)

Mne —}

Question # 8 of 10 ( Start time: 07:49:28 PM, 16 February 2022 )

The regression equation is the line with slope passing through

Select the correct uptlun

O

The point (bar(y),bar(x))

The point (xy)

O

The point (yx)

The point (bar(x)bar(y))
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98%

BC210400008: SYED SAAD HUSSAIN

MTH302 - Business Mathematics & Statistics {Quiz 03)

Question # 9 of 10 ( Start time: 07:50:55 PM, 16 February 2022 )

The correlation between two variobles measures the extent to which they are

Select the correct option

O

related with respect to effect.

rmutually exciusive
@

O

causally related

associated
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MTH302 - Business Mathematics & Statistics (QUiz 03] Quiz Start Time: 07:38 PM, 16 February 2022

Question # 10 of 10 ( Start time: 07:52:33 PM, 16 February 2022 ) Total Marks: |

If the known y- values and x-values are given by following sets {2,3,91,87 5] and ¥={6,511754,4} respectively then slope of the regression line is

Select the correct option

O

0.53

0.305

O
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[M‘I'Hﬂul = Business Mathematics & statstles (qulz 03)

98%

F-4
L

quiz Start Thrre:

Question # 8 of 10 { Start time: 07:49:28 PM, 16 February 2022 )

I'he regrassion equation 1s e line with slope pasaing thradgh

Salect the cormect option
Tha point (barly) bar(s)]
{ ]
-
Tha paint (uy)
oy
-

Tha paint [yx)

Tha point (bard)oary)?

Click to Sove Answor g
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Question & 5 ef 10 I: Start time: 07:45:08 PM, 16 February 2022 ]

The sum of squaras of the devialions of lhe observed values from the regression line is

Selact the correct opltion
l2asl or minimum
i
| )
rang of thoso
()
aro
|" Ny
) j
L
et
—

Click ta Sove 4
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Question # 10 of 10 ( Start time: 07:32:14 PM, 16 February 2022

The sample coefficient of correlation

Select the correct option

O

is the square of the coefficient of correlation.

reports the percent of the variation in the dependent variable explaine

cannot be negative.

O
O
O

All given choices are correct
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peestion & 2 of 10 [ Stort time: 07:80:37 PM, 16 February 2002 ) Total

I szt 10 shoareal e Lt mean is 20 and e reaecdian is T8 7 Roee are 2 walues thot ome &, ared all athor sabss ar differont, whal = b

rmociar

et the correct optlon

Cllca-to Scnns Answar  Move to Next Cues
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Question # 9 of 10 ( Start time: 07:30:47 PM, 16 February 2022)

Summary statistics for two samples of data are
Ssamplel: mean=19 variance=10

Sample 22 mean=10 variance=19

Which sample has the more spread of observations?

Select the correct option

There is not enough information to answer the question

@

sample 1 has more spreadness

Neither; they have the same spread

Sample 2 has more spreadness

Q
@
O
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Question # 70f 10 ( Start time: 08:01:1PM, 16 Februar~ 022) & |

e
The measure of the degree to which an

y two varlables vary I aether is called

e

select the correct option

. Tl

Mean deviation
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¥ Progress in Investm.

' Question # 5 of 10 ( Start time: 08:02:47 PM, 16 February 2022)

For the regression line:xY= a+bX,a'is the

Select the correct option

Il none of thesa

| hiope ol the reqrassion ine

l|>f. intercept

yiintercemt
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MTH302 - Business Mathematics & Statistics (Quiz 03)

Question # 8 of 10 ( Start time: 08:06:44 PM, 16 February 2022)

If many data points are close to the mean, then the standard deviation is ==---------

e

Select the correct option
|

| Middle value




lect the correct option

Slope

Non Linear regression

Linear regression
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Tn’m-lm - Business Mathematics & Statistics (Quiz 03)

Medafic - Premium... & US71281298:

Question # 10 of 10 ( Start time: 08:09:09 PM, 16 February 2022 )

The method of least squares finds the best fit line that

the error between observed & estimated points on the line

Select the correct option
e =

| | ) Reduces to zero




 estonasprver=T572de " -a84c-4796-bdde-52415750544
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hpps W9 Kins JB Colloidal Silica Jn-3... ® Prog =ssin Investm... @ Medafic - Premium... G US7128

salGrowth M| Download Money...

[H302 - Business Mathematics & Statistics (Quiz 03)

jestion # 3 of 10 ( Start time: 08:00:11 PM, 16 February 2022 )

The following results were obtained from a simple regression analysis:

y = 37.2895 - 1.2024 X

(A2 = 6774 s = 2934

y the simple linear regression model

is the proportion of the variation explained b

Select the correct option




£ Apps W Kins B Colloidal Silica In-3... ® Progress in Investm... SialGrowth M} Download Money...

@ Medafic - Premium... G

BC200410666: KINZA ARSHAD

MTH302 - Business Mathematics & Statistics (Quiz 03)

Question # 2 of 10 ( Start time: 07:55:19 PM, 16 February 2022)

Select the correct option
,—.

| | Median

Mode

The most common measure of central tendency which affected by extreme values is called....




decwasing in the same direction’ thsn|suc$n klnd of correlation is referred as
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Question # 4 of 10 ( Start time: 08:01:71PM, 16 Fe.

( variance or standard deviation can be zero only if

|

Select the correct option

| :
| | all the values in the data are in ascending Orde

i ; el
| | all the values in the data

cre uneqguc

ary 2022)




As the relationship deteriorates from a perfect correlation, what happens to the points on O scatter diagram?

Select the correct option

‘hie vilntercent oh

- hara Yy eaarrh W



MC210200828: SAIM SHERYAR

MTH302 - Business Mathematics & Statistics (Quiz 03)

Question # 4 of 10 ( Start time 10 445

9 PM. 16 February ;‘n.".’)

The difference between the largest and smallest value in the liven data is

Select the correct option
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MC210200826: SAIM SHERYAR

MTH302 - Business Mathematics & Statistics (Quiz 03)

Question # 20of 10 ( Start time: 10:42:15 PM, 16 Februa ry 2022)

Which of the following statements is true regarding the standard deviation?
-
A

Select the correct option
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MC210200826: SAIM SHERYAR
MTH302 - Business Mathematics & Statistics (Quiz 03)

Question # 7of 10 ( Start time: 10:48:34 PM. 16 February - 22 )

e N |
Scatter plots are used '
Select the correct option
.
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| MTH202 - Business Mathematics & Statistics (Quiz 03)

Question # 8 of 10 ( Start time: 10:49:51 PM, 16 February 2022 )

What will be the result of the excel command =abs | 5)?

Select the correct option

In excel ABS function returns the absolute value of a number.
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Select the correct option
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MTH302 - Business Mathematics & Statistics (Quiz 03)

Quostion#lﬂoflo(',*.:zrs!r-.-, 10:52°38 PM_ 16 Februar

The standard e

Select the correct option

il
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Bl Virtusl University of Pakistan X M Quiz X +

« = C 8 vulmsyu.edu.pk/Quiz/QuizQuestion.aspx?ver=5f733882-b24c-43f3-9a82-e5e1015¢ca7a2
| MIHJSUZ - BUSINESS MATNemMAarics & STAatistcs (QUIZU3)

W = ad X

e o » Q

QUIZ 3Tart 1ime: Uslsbd FM, If Fepruary ZuZs | =

Question # 3 of 10 ( Start time: 05:41:40 PM, 17 February 2022 )

Total Marks: |

The variaonce is calculated by squaring the standard deviation.

Select the correct option
False
)
True
r
®

Click to Save Answer & Move to Next Question




Bl Virtusl University of Pakistan X M Quiz x =+ W = ad X

&« = O @ wvulmsvuedu.pk/Quiz/QuizQuestion.aspx?ver=f8bdbclc-cd5c-449e-974d-501042b975b9 = W N 0 i

Question # 4 of 10 ( Start time: 05:43:11 PM, 17 February 2022 ) Total Marks: |

The coefficient of variation for a set of annual incomes is 18%; the coefficient of variation for the length of service with the company is 29%. What does this indicate?

Select the correct option

Dispersion in the two distributions (income and service) cannot be compared using percents

More dispersion in the distribution of the incomes compared with the dispersion of their length of service

More dispersion in the lengths of service compared with income

Dispersions are equal

e

Click to Save Answer & Move to Next Question

Ao E D> E




Bl Virtusl University of Pakistan X M Quiz x =+ W = ad X

(— — c ] vulms.vu.edu.pk/Quiz/QuizQuestion,.aspx?ver=d78995f5-8f74-4e91-Bacd-5eaf4813bbb1 = ’ 0 :
| MIHJSUZ - BUSINESS MATNemMAarics & STAatistcs (QUIZU3) QUIZ 3Tart 1ime: Uslsbd FM, If Fepruary ZuZs | =
Question # 10 of 10 ( Start time: 05:51:51 PM, 17 February 2022 ) Total Marks: 1

The statement that the relative frequency can be converted into cumulative frequency by adding the current frequency to the previous total is

Select the correct option
True
()
False
r
®

Click to Save Answer & Move to Next Question




Bl Virtusl University of Pakistan X M Quiz x =+ W = ad X

& - C @& vulmsyvu.edu.pk/Quiz/QuizQuestion.aspx?ver=c204b353-c2c8-4404-b2b5-45ec3d610332 = W N 0 :

Question # 6 of 10 ( Start time: 05:45:53 PM, 17 February 2022 ) Total Marks: 1

In regression analysis, when we plot the values of dependent and independent variables, the resulting set of points is called

Select the correct option

Venn diagraom

Scatter Diagram

Pie Graph

Histogram




MTH302 - Business Mathematics & Statistics (Quiz 03) Quiz Start Time: 05:54 PM, 17 February 2022

Question # 10of 10 ( Start time: 05:54:21 PM, 17 February 2022 ) Total Marks: |

A scatterplot of a correlation of .80 would loock most like a

Select the correct option

ellipse.
O
square.
L
circle,
O
straight line.
O

Click to Save Answer & Move to Next Question
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H

Question # 2 of 10 ( Start time: 05:56:10 PM, 17 February 2022 )

Scatterplots, like histograms, are a good visual means to understanding patterns of

select the correct option

O

univariate numerlcal data

bivariate numerical data

Mone of these

Trivariate numerlcal data

O
O
O

Cllck to Save Answer & Mo
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H

westion # 3 of 10 ( Start time: 05:57:59 PM, 17 February 2022 )

For a datg, mean is equal to median then its distribution is

elect the correct option

O

asymmetrical

left asymmetrical

right asymmetrical

symmetrical

O
O
O

Click to Save Ans'
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H

Question # 4 of 10 ( Start time: 05:58:32 PM, 17 February 2022 )

Truncated mean is also called

Select the correct option

O

None of these

Arithmetic mean

Harmonic Mean

Trimmed mean

O
O
O

Click to Save A



Bl Virtusl University of Pakistan X M Quiz x =+ W = ad X

« -5 C 8 vulmsyu.edu.pk/Quiz/QuizQuestion.aspx?ver=b2103a10-e17f-48fb-996f-9753237adad9 = T » 0 :

Question # 5 of 10 ( Start time: 05:44:42 PM, 17 February 2022 ) Total Marks: |

y = a + by, is the equation of

Select the correct option

a) Correlation

d)Botha &b
{
c) Curve
Y
I\-__-'
| b) Regression
(___Ji

Click to Save Answer & Move to Next Question
Ao ED & E,

A




Bl Virtusl University of Pakistan X M Quiz x =+ W = ad X

(— — c ] vulms.vu.edu.pk/Quiz/QuizQuestion.aspx?ver=80a8502f- 77 cf-4afa-85f0-790814718f52 = ’ 0 :

Question # 10f 10 ( Start time: 05:38:41 PM, 17 February 2022 ) Total Marks: 1

Slope of the line passing through the points A (2,3) and B (3. 4) is

Select the correct option
Zero
—~
,
Three
{
One
|'( . )|
M A
T\u'.-o
(_ 4

Click to Save Answer & Move to Next Question

A B E D& E
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The average of the squared deviations, where deviations are token from the mean is called....

Select the correct option

O

Average deviation

Semi-inter quartile range

Range

Variance

O
O
O

Click to Save An
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X @ Quiz 0 <
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The intercept of a line passing through origin is

Select the correct option

doas not exists

O

Zaro

positive

finite

O
O
O
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MTHI0Z - Business Mathematics & Statistics (Quiz 03) Quiz Stort Tirme: 0554 PM, 17 February 20
juastion & 8 of 10 [ Stort time: 06:03:67 PM, 17 February 2022 ) Tatal Mark

# tha somple varionca for o frequancy distribution comesting of hourky WHGRs Wos comguited to be 10, what Is tha sample stondard dewviotion?

10400

18

Click o Save Angwer & Move to Nert Questian
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.
| MTHIO2 - Dusiness Mathematics & Statlstles (Quiz 03) quiz Start Time: 08:54 PAL 17 Feb
Queestion ¥ 8 of 10 [ Stert tirme: 06:04:43 PM, 17 February 2022 ) Te
Tha varianos is calculated by BOLIaTES the stondard deviation

Select the carrect option

Folse

O

Trus

CEek 1o Sove Answer & Move i3 Nexl G
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Question # Bof 10 { Start time: 08:00:39 PM, 17 February 2022 )

It the correlation s negative perfect, whot will be the value of 1#

Select the correct option

O-a

O
@
O

Click to Sm
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When there is no linear correlotion between two variobles, what will the value of r ba?

Select the correct option

O

|

O

a vary small negative number

Click to Save Ang
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&€ > C @ wuimsvu.edupk/Quiz/QuizQuestion.aspx?ver=a2fefd1d-aa85-49de-b37e-b92af
3 Apps W Kins B Colloidal Silica in-3.. (8 Progress in Investm...

SialGrowth M| Download M
"\'socmn = Curural Antnropology (Quiz 3)

Question # 10f 10 ( Start time: 06:16:46 PM, 17 February 2022)

Intuits follow which formal mechanism to settle disputes?

Select the correct option




BC200200733: MUHAMMAD REHAN KHAN

MTH302 - Business Mathematics & Statistics (Quiz 03)

Question # 2 of 10 ( Start time: 06:30:01 PM, 17 February 2022 )

The measurement of measure of degree of to which any two variables vary together is called

Select the correct option

c)Both {a) and (b)

[
",

o)Regression Coefficient

o

W

b)Correlation

U

d)None of these

O




MTH302 - Business Mathematics & Statistics (Quiz 03)

Question # 5 of 10 ( Start time: 06:35:09 PM, 17 February 2022 )

The equation of the least squares line is
-28.13 + 112x
What is the predicted value of y when x = 10007

Select the correct option
-1148.13
E ]
2813112

1091.87

-1081.87




MTH302 - Business Mathematics & Statistics (Quiz 03) Quiz Start Time: 07:09 PM, 17 February 2022

Question # 8 of 10 ( Start time: 07:22:53 PM, 17 February 2022) Total Marks: |

. 18 thie mean of inverse values,

Select the correct option

Harmonic mean

Geomeltric mean

Midhing

Arithmetic mean

Click to Save Answer & Move to Next Question



L e
MTH302 - Business Mathematics & Statistics (Quiz 03) Quiz Start Time: 07:09 PM, 17 February 2022

Question # 9 of 10 ( Start time: 07:24:33 PM, 17 February 2022) Total Marks: |

If there is a indirect relationship between rainfall & yield of crops then

Select the correct option

Yield is equal to rainfall

Yield is higher if rainfall is higher

Yield is higher if rainfall is less

Yield is lower if rainfall is less

Click to Save Answer & Move to Next Question
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BC210204623: RABIA MANZOOR

MTH302 - Business Mathematics & Statistics (Quiz 03)

question #100f 10 start time: 0813:30PM, 17 February 2022)

i 4G 4 B 69%

A < @

‘Quiz Start Time: 07.59 PM, 17 February 2022

Total Marks:1

The syntax intarcept (known y's, known xs ) gives

Select the correct option

d}Mone of these

ajx- intence pt

c)soth (o) and (b} e same

b)y- intarcept

Click to Sove Arewer & Move to Next Question



vulms.vu.edu.pk

Question # 2 of 10 ( Start time: 08:22:35 PM, 17 February 2022 )

y = a + bx, is the equation of

Select the correct option

b) Regression

d)Botha&b

¢) Curve

a) Correlation







Question # 4 of 10 ( Start time: 08:24:53 PM, 17 February 2022 )

The sum of squares ol the deviations of the observed valuas from the regrassion line is

Select the correct option
zaro
least or minimum

none of these

maximum

Total Mark




Question # 5of 10 ( Start time: 0825 40 Pa 17 February 2022)

A reiationship between variables that can be repr

Select the correct option

@,

Non linear regression mode

Simple inear regression

Population regression n

Non linear equation

asented by a straight line equation is




Question # 10f 10 ( Start time: 08:21:50 PM_ 17 February 202 1)

Which of the following statements is true regarding the standard deviation?

Select the correct option

it connot assume O ne
o
-
All the given choices
7 3
3 F
P
i iEitis 7era then all the datc
t"h_ﬂf

It is in the same units as th




Question # 9 of 10 ( Start time: 08:30:25 PM, 17 February 2022)

The comelation between two variobles measures the extent to which they are

Select the correct option

I reiagted with respect 1o alfect

causally related

associoted

mutugily exclusive




Question # 8 of 10 ( Start time: 08:29:18 PM, 17 February 2022 )

Mean deviation is always

Select the correct option

negative

more than standard deviation

lese then standard devialior

Fd N _ equal lo standard daviation
O
s

Total Mc

[RS— rllllﬁ;iawdilﬂhnl__l_‘



e
- Question # 70f 10 ( Start time: 08:28:13 PM, 17 February 2022 ) Bs
f 2 Total Marks: |
| itscores of openness to experience tend to be hi i - o
gher for students who have higher Interest for adventure, which of the following i i
' § I o ek e a8 fallowing is a reasonable correlation batween openness o
L = ies b Ll .
‘Select the correct option
—]-0n 1
: = -': = S —--:
== | -0.78
13 el | 2
0.2
I‘. O i
il +o'?E I
§ Sl ST




Question # 8 of 10 ( Start time: 08:27:03 PM, 17 February 2022 ) Te
If the number of terms in the data are even then the median of the data is

Select the correct option
' The average of Ist and 2nd quc

The average of smailex!

The averoge of two middie terr

The average of 1st and 3rd quortiles

Kt mnate YWindions




Question # 10 of 10 ( Start time: 08:31:08 PM, 17 February 2022

If many data DDH'II'S are close to the mean, then the standard deviation is -—========-=

Select the correct option

Middie voiue

)

I Large
e
5]
(i)
L 3
Sl e liane VIS
i1 -=
B N e
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BC210202156: ABDUL GHANI

Time Left
MTH302 - Business Mathematics & Statistics (Quiz03) Quiz Start Time: 08:39 PM, 17 February 2022
Question # 3 of 10 ( Start time: 08:42:18 PM, 17 February 2022 ) Total Marks: |

The statement
‘Mean does not get offected by the extremne volues or outliers in the data’

Is

Select the correct option

False

H A~ Type here to search
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MTH302 - Business Mathematics & Statistics (Quiz 03) Quiz Stari Time: 08:53 PM. 17 Fe

Quesation & 2 of 10 { start time: 08:54:24 PMm, 17 February 1022 )

There ore two grophs Gl and G2 The graph Gl has r = 0.9 ond the graph G2 has r = 05, then what result go you toke out from it?

Salect the correct aption

&1 = mare scolleted than G2

Gl In oot scotiersd than G2

Gl and G2 are equolly scottored

N result can be diran from the given dato

e Answer & Move to Nest

Q  Search... = ™

O O Jd
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MTH302 - Business Mathematics & Statistics (Quiz 03)

.]])

45.6 =
K/s (288

Question # 10f 10 ( Start time: 09:11:24 PM, 17 February 2022 )

if sign of 'r'is negative then it indicates

Select the correct option

(b) Indirect relationship between X & Y

@

(a) Direct relationship between X & Y

(dborc

(c) x &Y equal

O
O
O

Q, Search...

@] O
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MTH302 - Business Mathematics & Statistics (Quiz 03)

Question # 2 of 10 ( Start time: 09:13:17 PM, 17 February 2022 )

The mean of 3.5, 4.5,65,75 Is———--—---—

Select the correct option

5.9

O

6.7

5.5

O
O
O

Q. Search...

Il
B

@] O =
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X

’ MTH302 - Business mathematics & Statistics (Quiz 03)

& vulms.vu.edu.pk

4. 2@
E

Quiz start Time: 09:11FM, !

question # 3 of 10 { Start time: 08:15:08 PM, 17 February 2022 )

measures the strength of the linear relotionship between the dependent ond the Independent variable.

select the correct option

@)

e

@)

L]

O

MNormal plat

¥ intercept

Distance value

Simple correlotion coefficient

Q, Search..

@

Chick to Sove Answer & Move to b
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Question # 4 of 10 ( Start time: 09:16:44 PM, 17 February 2022)

——
‘"=

634 (==
B/s ' 20

<

In more dispersed ( spread out) set of data

Select the correct option

standard deviation is greater

®

value of the mode s greater

Difference between mean and the median is greater

inter-quartile range is smaller

O
O
O

Q, Search..

@] O
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! MTH302 - Business Mathematics & Statistics (Quiz 03)

1|I _
T ol

73
K/s

Question # 6 of 10 ( Start time: 09:20:41PM, 17 February 2022 )

What does the slope of the linear regression line represent?

Select the correct option

Verticadl distance from the line.

O

Horizontal distance between two points on the line.

Heorizontal distance divided by vertical distance between two points on the line.

Rate of change of regression line.

O
O
O

Q, Search..

@] O
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Sedect the correct ophon
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BC210419987: MUNAZZA ALTAF

MTH302 - Business Mathematics & Statistics (Quiz 03)

Question # 5 of 10 ( Start time: 09:18:12 PM, 17 February 2022 )

In simple linear regression one variable depend upon

Select the correct option

two dependent variables

®

one dependent variable

one independent variable

one or more than one independent variables

®
O
O

Q, Search... = Q

@] O =
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Question # 7 of 10 ( Start time: 09:22:15 PM, 17 February 2022 )

If the dependent variable increases with the independent varioble then the coefficient of correlation is

Select the correct option

O

Dto-05

Dto-2

Dtol

Dto-1

O
O
O

Click to Save A

Q  Search.. | = (a)

@ O =
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MTH202 - Business Mathematics & Statistics (Quiz 03) Quiz Start Time: 09:20 PM, ﬁabmury 2022

Question #1of10 ( Start time: 09:20:23 PM, 17 February 2022 ) Total Marks: |

Fraquency Function caloculotas how r within a range of values

select the correct option

False




ct relatic




_I\frﬂaoz = Business Mathematics & Statistics (Quiz 03)

Question # 4 of 10 ( start time: 09:24:26 PMm, 17 February 2022)

et L
If y=2+06x then Vvalue of y-intercept is

Select the correct option

06

0

f andouts Of Mtha....pdf
Handouts Of Mth3...pdf - E Handouts Of Mt pc

O

R Type here to search
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BC210419987: MUNAZZA ALTAF

MTH302 - Business Mathematics & statistics (Quiz 03) Quiz start Time: 09:11 PN

Question # B of 10 ( Start time: 09:23:45 PM, 17 February 2022 )

The method of leoast squares finds the pest fitlinethat ______ _ the error bebtween observed & estimated points on the line

select the correct aption

B) Minimizes

c) Reduces to zera

a) Maximizes

d) bac

O

Glick lo Save Answer & Move tg

Q  Search.. | = (=)



Select the correct option

ZEerfo
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|HTH302-BI.I'IM! Mathematics & Statistics (Quiz 03) Quiz Start Time: 0!

Question # 9 of 10 ( Start time: 09:25:04 PM, 17 February 2022)

A scatter diagram:

Select the correct option

|d) Both aaond b are correct

| b) Uses interval or ratic scale data

| O

(a) 5o grophlc tool designed to portray the relationship between variable

O

| ¢) Does not allow negative values.

O

Click to Save Answar & M)

Q  Search.. | = (a)

@] O =
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MTH302 - Business Mathematics & Statistics (Quiz 03)

47 %@

<

Quiz Start Time: 0%:111

Question # 10 of 10 ( Start time: 08:27:33 PM, 17 February 2022)

In excel ABS function retums the absolute volue of a number
Wheit will be the result of the excel command =abs (-5)2

Select the correct option
51
_—
-
5

-B

Q, Search..

@] O

Click to Save Answer & Move|



SE—

| . Sinrtt:ma 09:27:42 PM, 17 February 2022)

the correct option
-34
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|
]
|

MTH302 - Business Mathematics & Stotistics (Quir 03)

Question # 8 of 10 ( start time: 092842 PM, 17 February 2022 )

I Whot do YOU mean ol Measure of dispers

Select the correct option




ufgaoz - m.img Mathematics & Statistics (Quiz 03)

Question # 10 of 10 ( start time: 09:30:29 PM, 17 February 2022)
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(_ __‘) C & vu!ms.vu.edu.pk/QuizfQuizQuestion.aspx?ver=35c34457_b31m'

MTH302 - Business Mathematics & Statistics (Quiz 03)

Question # 9 of 10 ( Start time: 09:29:49 PM, 17 February 2022 )

If the standard deviation of a popuiation is 8, the population variance Is:

select the correct option

I= s e Al e O-ﬁ"th_.’r_-m'E?lﬁr-lf,;.' '.r.u..hf. yibfit
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Iuczlmnmn JAVERIA SHAIKH .
MTHI02- Business Mathematics & Statistics (Quiz 03) qummnwm_ﬁm:m:_
Queetion # T of 10 { Stort tme: BE1265 P, 17 February 2022 ) Tortal Mariks: |

Which mathod helps to drow o ne botwooen the sot of scottorod paints

Select the corract option
Loast square method

Regression method

Loast fit method

~
i

Corne|otion mathod

Cick to Gove Anmwer & Woes t0 Wost Queanon
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BCZ10405480, JAVERIA SHAMH mm.

mathemartics & Statistics (Quiz 03) Quiz Start Thme: 03:32 P44, 17 February 2022

Quection # 2 of 10 ( Start time: 09:36:18 P, 17 Februnry 1023 ) Tortal Mariks: |

W the graph isvery much scaltered, then what con be the suitoble value of 7

Select the corract option

Cick to Sove Anmwar & Move @0 hiost Queesnon
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BCZ10405480, JAVERIA SHAMH

MTHIZ - Busl Mathematics & Statistics (Quir03)

Queetion # & of 10 { Start time: 08:30-27 P, 17 Febroary 2023 )

The vanance of the 3, 13,3, 3 is

Select the corract option

el il 68%m
A <

Quiz Start Thme: 09:32 Fi. 17 February 2023

Halt of the rangs

Twice tho stondord stondord deviotion

~
i

Onae

Cick to Eove Answer & Woes @0 Wost Quessnon




Question #10f10 { Start time: 10:04:08 PM, 17 February 2022 ) Total Marks:

As the relationship deteriorates from a perfect comelation, what hoppens to the points on a scatter diogrom?

select the correct option

O

The y-intercept changes.

They become more scattered.

The slope and y-intercept both change

The slope changes.

O
O
O

Click to Sowe Answer & Mowve to Mext Question




MTH302 - Business Mathematics & Statistics (Quiz 03)

(S—
Quiz Start Time: 10:04 PM, 17 February 2022

Question # 2 of 10 [ Start time: 10:06:02 PM, 17 February 2022 )

Total Marks: |

For a data, mean < median then its distribution is

Select the correct option

symmetrical

@
|

lefta symmetrical

O

| right asymmetrical

| asymmetrical

Click to S0ve Answer & Mowve to Next Question




MTH302 - Business Mathematics & Statisties (quiz 03) Quiz start Time: 10:04 PM, 17 February 2022 |

Question # 4 of 10 { start time: 10:08:03 Pa, 17 February 2022 ) Total Marks: |

In a simple linear regression analysis, the correlation coetficient (r) ond the slope (b1} have the same sign.

select the correct option

| Mewver

=l

I Most of the times

Sometimes

Q| O

Click to Sove Answar & Move to Next Question




MTH302 - Business Mathemaotics & Statistics (quiz 03) Quiz Start Time: 10:04 PM, 17 February 2022 |

Question # 3 of 10 { start time: 10:07:22 P, 17 February 2022 ) Total Marks: |

If the value of r = 0, then there will be a perfect comelation between two variobles.

select the correct option

true

false

Click to Sove Answer & Move to Next Queston
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MTH302 - Business Mathematics & Statistics (Quiz 03)

Question # 2 of 10 ( Start time: 11:24:57 PM, 17 February 2022 )

Select the correct option

Nona of the above
e af thed rinike soaes op t
i His eoues as |t
iligs eaf thy it I 1=

Quiz Start Time: 11:22 PM, 17 February 2022

Total Marks: |




O =l .l §77%

MC1B802

7: MUHAMMAD DANISH KHAN

Time Left

MTH302 - Business Mathematics & Statistics (Quiz 03) Quiz Start Time: 11:22 PM, I7 February 2022
Question # 5 of 10 ( Start time: 11:30:36 PM, 17 February 2022 ) Total Marks: |
" ol lor o Iregueney distrtution conl 1 of ROy wocjoes wo pliled 1o b | tieat |4 b 1l ko douil)

Select the correct option
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If the estimating equation is ¥ = a = b X, which of the following is true

Select the correct option

all of these

Slope of line is pogitive

There [s Inverse ralationship

Q| O

The y Intercept |s b

O

Cllck 1o Savy

1] O <
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7 MUHAMMAD DANIEH KHAN

Time Left
MTH202 - Business Mathematics & Statistics (Quiz 03) Quiz Start Time: 1:22 PM, I7 February 2022
Question # 4 of 10 ( Start tme: 11:29:38 PM, 17 February 2022 ) Total Marks: |

Select the correct option

oetficient af dersrmino
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MC1B802

7: MUHAMMAD DANISH KHAN

Time Left

MTH202 - Business Mathematics & Statistics (Quiz 03) ime: 1122 PM, 17 February 2022

Question # 7 of 10 { Stort time: 11:3302 PM, 17 February 2022 ) Total Marks: |

Select the correct option
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MTH302 - Business Mathematics & Statistics (Quiz 03)

Question # 6 o1 10 ( Start time: 11:32:34 PM, 17 February 2022 )

Select the correct option

Time Left

Quiz Start Time:11:22 PM, 17 February 2022

Total Marks: |

et recd e 1etard deviation o tivaly longe
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- MUHAMMAD DANISEH KHAN Time Left

MC1B802

MTH302 - Business Mathematics & Statistics (Quiz 03) Quiz Start Time: 11:22 PM, I7 February 2022

Question # 3 of 10 ( Start tirme: 11:27:28 PM, 17 February 2022 ) Total Marks: |

Select the correct option

extent 1o which scores differ from ons anather
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BC190412001: MEHWISH RAMZAN

MTH302 - Business Mathematics & Statistics (Quiz 03)

Question # 8 of 10 ( Start time: 11:31:59 PM, 19 February 2022 )

A scatter diagram:

Select the correct option

O

a) Is a graphic tool designed to portray the relationship between vc

b) Uses interval or ratio scale data.

d) Both a and b are correct

c) Does not allow negative values.

O
O
QO
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Question # 4 of 10 ( Start tirme: TE34:54 PM, 19 February 2022)

It the regression line: ¥= 3+5X meets the x-axis ot '8° unit from the origin then the volue of y-intercept Is

Select the correct option

O

B

O
O
O

Q, Search..

Click to Sove
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Question # 5 of 10 ( Start time: 11:36:44 PM, 19 February 2022 )

Summary statistics for two samples of dota are
Samplel: mean=18 varionce=10

Sample 22 mean=10 wvariance=19

Which sample has the more spread of observations?

select the correct option

There is not enough information to answer the question

O

Sample 2 has more spreadness

Neither; they have the same spread

Sample | has more spreadness

O
*®
O

Q, Search.. = m

@ O )
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Question # B of 10  Start time: T:42:19 PM, 19 February 2022 )

The stoternant
‘Median doss not get affected by extrame values or outliers in the data”
Is

Select the correct option

Falsa

O

True

Q, Search..

l
B

@ O J
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MC200401881: SAJID SUBHANI Time Left
MTH302 - Business Mathematics & Statistics (Quiz 03) Quiz start Time: 11:34 PM, 19 February 2022
Question # 7 of 10 ( Start time: 11:45:34 PM, 19 February 2022 ) Total Marks: 1

The sum of deviations from meanis ......

Select the correct option
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Time Left m

MTH302 - Business Mathomatica & Statistics (Quiz 03) Quiz Start Time: 11:52 PM. 18 February 2022
Quaation # 2 of 10 [ Start tirme: 11:53:06 PM, 18 February 2022 ) Tatal Marks: |
I T ] {ing the geor el i j
X1 Xg Xy X
e
Select the correct option . Fr— -
Xp %Xy X
X =
X = Xy =Xy = X X
X=Xy + X=X X
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MC200401882: ASIM HUSSAIN ZAHID

MTH302 - Business Mathematics & Statistics (Quiz 03) Quiz Start Time: 11:52 PM, 19 February 2022

Question # 5 of 10 ( Start time: 1:55:50 PM, 19 February 2022 ) Total Marks: 1

Ms. Christian calculated a correlation coefficient of .75. which of the following reflects the best interpretation of this?

Select the correct option

Strong negative

Strong positive.

Weak positive.

Weak negative.
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MC200401882: ASIM HUSSAIN ZAHID Time Left
MTH302 - Business Mathematics & Statistics (Quiz 03) Quiz Start Time: 11:52 PM, 19 February 2022
Question # 6 of 10 ( Start time: 11:56:52 PM, 19 February 2022 ) Total Marks: 1

In the equation Y=2+3X the intercept is

Select the correct option
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MC200401882: ASIM HUSSAIN ZAHID Time Left
MTH302 - Business Mathematics & Statistics (Quiz 03) Quiz Start Time: 11:52 PM, 19 February 2022
Question # 4 of 10 ( Start time: 11:54:31 PM, 19 February 2022 ) Total Marks: 1

The range of the data 2, 5,8, 9,156, 7is .

Select the correct option
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MC200401881: SAJID SUBHANI Time Left
MTH302 - Business Mathematics & Statistics (Quiz 03) Quiz start Time: 11:34 PM, 19 February 2022
Question # 10 of 10 ( Start time: 11:49:41 PM, 19 February 2022) Total Marks: 1

As the regression line equation is y = ax + b, where b is

Select the correct option

None of these

The x-intercept

The slope

The y-intercept
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MTH302 - Business Mothematics & Stotistics (Quiz 03)

=Tl g 3D

<

Quiz Start Ti

Question #& 6 of 10 { Start time: 11:38:38 PM, 19 February 2022 )

Variance or stondard deviation con be rero only if

Select the correct option

O

oil the values In the data are unaguol

ol the valuss In the data are equur

ol the valuas In the data form In descending order

ofl thve values In the data are in oscending order

O
O
O

Q, Search..

@ O

Click to Save Answ




11:31PM [ = see ‘T il o #D

X & vulms.vu.edu.pk <

[m-“mmﬁ-m:muj iz Start Time: TE29 PM. 1

Question £ 2 ol 10 { Stor time: 11:31:32 P, 19 February 2022 )

The Frdnimium value of he correlotion cosfficien f con be

Select the correct option
~Infinity

O

b

-1

Click o Save Answer & Move o M

g

Q Search... (» 1‘ = @

@ O 2
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BC190412001: MEHWISH RAMZAN S
MTH302 - Business Mathematics & Statistics (Quiz 03) Quiz Start Time: 11:20 PM, 12 February 2022
Question # 9 of 10 ( start time: 11:33:25 PM, 19 February 2022 ) Total Marks: |

The coafficient of variation for @ zat of annual incomes is 18%; the coefficient of variation for the length of sarvice with the company is 28%. what
doas this indicata?

Select the correct option

&

More digpersion in the distribution of the incomes compared with the dispersion of thair length of service

More dizpersion in the lengths of service comparad with income

Cizparsion in the twa distributions (income and service) cannot be comparsad using parcents

® @

Dizparsions ore aguaol

O

Click to Save Anewar & Move to Next Qu
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MTH302 - Business Mathematics & Statistics (Quiz 03)

Question # 3 of 10 ( Start time: 11:33:37 PM, 19 February 2022 )

In the calculation of range from group data which of the following play important role?

Select the correct option

curmulative frequency

O

only largest value

both smallest & largest value

frequency

O
O
O

Q, Search.. _ = Q

@ O J
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BC190412001: MEHWISH RAMZAN

MTH302 - Business Mathematics & Statistics (Quiz 03)

Question # 10 of 10 ( Start time: 11:35:16 PM, 19 February 2022 )

The syntax intercept (known y's, known x's ) gives

Select the correct option

a)x- intercept

O

c)Both (a) and (b) are same

b)y- intercept

d)None of these

O
O
O
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Standard deviation can be calculoted by toking deviation from any meosure of central tendency

Select the correct option

O

False

True

Q, Search..

@]

Cli
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MC200401881: SAJID SUBHANI

MTH302 - Business Mathematics & Statistics (Quiz 03)

Time Left

Quiz start Time: 11:34 PM, 19 February 2022

Question # 9 of 10 ( Start time: 11:48:26 PM, 19 February 2022 )

Total Marks: 1

My estimated regression line is Y = 17 + 4X. The intercept is equal to:

Select the correct option
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MC200401882: ASIM HUSSAIN ZAHID Time Left
MTH302 - Business Mathematics & Statistics (Quiz 03) Quiz Start Time: 11:52 PM, 19 February 2022
Question # 3 of 10 ( Start time: 11:53:43 PM, 19 February 2022 ) Total Marks: 1

Fifth decile for 10.1,10.3, 10.5, 10.6, 10.7,10.9 is approximately ........

Select the correct option

10.9
101
()
=
10.6
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MC200401882: ASIM HUSSAIN ZAHID Time Left
MTH302 - Business Mathematics & Statistics (Quiz 03) Quiz Start Time: 11:52 PM, 19 February 2022
Question # 7 of 10 ( Start time: 11:58:01 PM, 19 February 2022 Total Marks: 1

The intercept of a line passing through origin is

Select the correct option

zero

positive

finite

does not exists
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uestion # 5 of 10 ( Start time: 11:26:52 PM, 19 February 2022)

For the regression line: Y= -X + 5, y-intercept is

elect the correct option

O-E

O
O
O




11:28 il *S1l 2 @ - N ©Q (58

X @ Quiz I:I °<:

vulms.vu.edu.pk

Question # 6 of 10 ( Start time: 11:28:20 PM, 19 February 2022 )

If Sx = 2.56, Sy = 15.91, Sxy = 29.59, then correlation Coefficient is

Select the correct option

0.649
O

0.3880
O

0.7265
O

6744
O
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| MTH302 - Business Mathematics & Statistics (Quiz 03)

Question #10of 10 ( Start time: 11:29:45 PM, 19 February 2022 )

Which of the following is not a necessary condition for regression analysis?

Select the correct option

O

The ¥ values are independent

The slope of the regressian line is positive (increasing)

For each X value, there is o group of ¥ values and these ¥ values are normally distribute

O
O
O

The standard deviation of each of the conditional distributions must be the same.

Q, Search.. = Q

@ O )
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If sx=2, sy = 4 and sxy =10 then correlation r is

Select the correct option

1.25
O

0.80
L]

112
L

3.54
L]
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BC200409829: BUSHRA TABASSUM Time Left
MTH302 ~ Business Mathematics & Statistics (Quiz 03) ‘Quiz start Time: 05:34 PM, 15 February 2022
Question #10 of 10 ( start time: 05:47:50 PM, 15 February 2022 ) Total Marks: |
if @ s=t of bivoriats data (of two vanables) iz raced in Xv-plans and this scottered péot is opproximatsd to get o strosght line: (x/2)+{y/3)+1=10 Then it= slope is

O
Tua
O
-3j1

Click to 3ove Answear & Mova 1o Next Queaation
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BC200409829: BUSHRA TABASSUM Time Left
MTH302 - Business Mathematics & Statistics (Quiz 03) ‘Quiz start Time: 05:34 PM, 15 February 2022
question # 9 of 10 ( start time: 05:48:42 PM, 16 February 2022) Total Marks: |

on the basis of doto, we wish to estimate the value of voriable ¥ comesponding to o given valus of varioblz x. it con be occomplished by estimating the vofue of ¥ from o
type of curee that fits the sampls dato. This type of cunve is called

select the correct option
| Regression curve
O

| Ogive curve

| O

Scatter curve

—~
-

(

O

Least squons curve

Click to Sove Answear & Mova 1o Next Queation
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BC200409829: BUSHRA TABASSUM Time Left
MTH302 - Business Mathematics & Statistics (Quiz 03) ‘Quiz start Time: 05:34 PM, 15 February 2022
Question # 8 of 10 ( start time: 05:45:48 PM, 15 February 2022 ) Total Marks: |

which of the iofowing con never be negative

select the correct option
| Hare of the given cholce

O

| Varionce but not Stondard deviotion
)
L

)

L

standard deviotion but ot Yarionce

Both standard daviation and varionce

@)

Click to Sove Answer & Move 1o Next Question
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BC200409829: BUSHRA TABASSUM

MTH302 - Business Mathematics & Statistics (Quiz03) Quiz Start Time: 05:3

Question # 7 of 10 ( Start time: 05:43:01 PM, 15 February 2022 )

In the equation Y=2+3X the interceptis

Select the correct option
2

e Answer & Mo
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BC200409829: BUSHRA TABASSUM Time Left

MTH302 - Business Mathematics & Statistics (Quiz 03) ‘Quiz start Time: 05:34 PM, 15 February 2022

Question # & of 10 ( start time: 05:41:22 P, 15 February 2022 ) Total Marks: |

@ e

¥
B
]
1
la
]

Click to Sove Answear & Mova 1o Next Queation
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BC200409829: BUSHRA TABASSUM

MTH302 - Business Mathematics & Statistics (Quiz 03)

Time Left

‘Quiz Start Time: 05:34 PM, 15 February 2022

Question # 5 of 10 ( start time: 05:40:13 PM, 16 February 2022 )

Total Marks: |

analysis of vorionce (ANOVA) s o test for equality of

select the correct option

| anly two parametzrs

O

| varionces

O

)

L

propartions

menns .

Click to Sove Answer & Move 1o Next Question
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BC200409829: BUSHRA TABASSUM

MTH302 - Business Mathematics & Statistics (Quiz 03)

Time Left

‘Quiz Start Time: 05:34 PM, 15 February 2022

Qquestion # 4 of 10 ( Start time: 05:38:32 PM, 15 February 2022 )

Total Marks: |

& soatter diogram

select the correct option

O

| E) Usss interval or ratic scale datn

O

—~
-

(

@)

| &) 1z a graphic tool designad to partry the relationshin between varioble

c} Does nat allew negotive valuss.

D) Both & and B are carrect

Click to Sove Answer & Move 1o Next Question
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BC200409829: BUSHRA TABASSUM

MTH302 - Business Mathematics & Statistics (Quiz 03)

Time Left

‘Quiz Start Time: 05:34 PM, 15 February 2022

Question # 3 of 10 ( start time: 05:37:35 P, 15 February 2022 )

Total Marks: |

which of the iofowing corelation cosfficients represents the weoksst coreloton between two vonables?

select the correct option
| 015
O
B ._
—
@
il oo
)
L
-100

Click to Sove Answer & Move 1o Next Question
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BC200409829: BUSHRA TABASSUM

MTH302 - Business Mathematics & Statistics (Quiz 03)

Time Left

‘Quiz Start Time: 05:34 PM, 15 February 2022

Question #2 of 10 ( start time: 05:36:32 Pm, 15 February 2022 )

Total Marks: |

Positive square roat of the squorsd deviations of the values of o vonance from their mean vohes i cofed

select the correct option

Varionce

| Standard devintion
)
s

Semi-inter quartils ronge

Average deviotion

Click to Sove Answar & Move 1o Next Question
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MTH302 - Business Mathematics & Statistics (Quiz 03)

Qquestion #10f10 ( start time: 05:34:53 PM, 15 February 2022 )

Time Left

‘Quiz Start Time: 05:34 PM, 15 February 2022

For o data, if mean » median then its distribution iz

Total Marks: |

select the correct option
| symmatrical

O

| ozymmetrical
|

s

L8

| ¢

lett asymmetrical

]

i

(

right asymmatrical .
O

Click to Sove Answer & Move 1o Next Question



